
B. Sc. (Hons.) Agriculture Semester –I 

Introductory Biology 

 (AG 107A) 
 

Q1 What do you mean by Morphology of flowering plant? Explain with diagram. 

               [CO2, L2] 

Qwy ds ikS/ks dh vkdf̀r foKku ls vkidk D;k vfHkizk; gS\ fp= lfgr foLrkj ls fy[ksaA 

Q2 Explain the role of animals in agriculture.                  [CO5, L2] 

i'kqvksa dk d̀f"k esa egRo dh O;k[;k dhft,A 

Q3 Draw a well labelled diagram of plant cell and animal cell. 

                [CO2, L3] 

ikni dksf’kdk o tUrq dksf’kdk dks fp= lfgr ukekafdr djsaA 

Q4 Write a short note on following:-           [CO2, L6] 

fuEu ij y?kq fVIi.kh djsa%& 

(a) Prokaryotic cell   (b) Eukaryotic cell 

izksdsfj;ksfVd dksf’kdk   ;wdsfj;ksfVd dksf’kdk 

Q5 Describe the main features of Brassicaceae family, with floral diagram and write the 

economic importance of its family.  

                [CO4, L2] 

czsfldk dqy dh eq[; fo’ks"krkvksa o mlds vkfFkZd egRo dks iq"i vkjs[k lfgr mYysf[kr djsaA 

 

Q6 What do you understand by the term ‘Cell’. Explain about cell division with diagram.

                [CO2, L2] 

*dksf’kdk* 'kCn ls vkidk D;k vfHkizk; gSA dksf’kdk foHkktu dk lfp= o.kZu djsaA 

Q7 Describe the main features of Fabaceae family, write about their importance in detail.

               [CO4, L1] 

Qsfc,lh dqy dh eq[; fo’ks"krkvksa o mldh vkfFkZd egRork dks foLrkj ls le>kb;sA 

Q8 Define seed and write factors affecting seed germination.   [CO3, L2] 

cht dks ifjHkkf"kr djsa vkSj chtksa ds vadqj.kdks izHkkfor djus okys dkjdksa foLrkj ls fyf[k,A 

 

 

Q9  Write down about seed with structure and explain the difference between Monocot 

and dicot seed.     

 cht rFkk mldh lajpuk ds ckjs esa fyf[k, rFkk ,d cht i=h rFkk f}cht i=h chtksa ds varj fyf[k,A 

 

Q10  Describe the cell with cell theory. Explain the difference between Evkaryotic and 

Prokaryotic cell. 

 dksf'kdk dk o.kZu dksf’kdk fl)kar lfgr dhft,A izksdsfj;ksfVd rFkk ;wdsfj;ksfVd dksf’kdk esa varj 

le>kb,A  

 



Q11  Write down about germination and explain all type of germination.   

 vadqj.k ds ckjs esa fyf[k, rFkk vadqj.k ds lHkh izdkjksa dk o.kZu dhft,A 

 

Q12    What is classification? Describe the various step of classification.   

 oxhZdj.k D;k gksrk gS\ oxhZdj.k ds fofHkUu inksa dks le>kb,A  

 

Q13  Write down difference between plant cell and animal cell.   

 ikni dksf’kdk rFkk tarq dksf’kdk esa varj dks fyf[k,A  

 

Q14  Write short notes:-  

 laf{kIr fVIi.kh fyf[k, %& 

 (i) Embryo 

      Hkwz.k 

 (ii) Protoplasm  

      thonzO; 

 (iii) Cell wall  

      dksf'kdk fHkfÙk 

 

Q15  What do you mean by life? Define the different characteristics of life.   

 thou ls vki D;k le>rs gS\ thou ds fofHkUu y{k.kksa dk o.kZu dhft,A 

 

Q16  Explain the role of animals in agriculture.   

 d`f"k esa tkuojksa dh Hkwfedk dk o.kZu dhft,A  

 

Q17  Write down about Cruciferae family with following points:  

 fuEu fcUnqvksa dks /;ku esa j[krs gq;s dqlhQsjh dqy dk o.kZu dhft,%&  

 (i) Vegetative characters 

      dkf;d y{k.k 

 (ii) Floral characters  

      iq"ih; y{k.k 

 (iii) Economic importance  

      vkfFkZd egÙo    

 

Q18  Write short notes:-  

 laf{kIr fVIi.kh fyf[k, %& 

 (i) Flower 

      Qwy 

 (ii) Stem  

      ruk 

 (iii) Root  

      tM+ 

 

Q19  Enlist various characteristics of living organism. 

 thoksa dh fofHkUu fo’ks"krkvksa dks le>kb,A 

 

Q20  What do you understand by the term Morphology? Write a short note on Morphology. 

 lajpuk foKku ¼vkdf̀r foKku½ ls vki D;k le>rs gS\ lajpuk foKku ds ckjs esa laf{kIr esa fy[ksaA 

 



Q21  Describe the classification of living organism, explain in detail. 

 thoksa ds oxhZdj.k ls vki D;k le>rs gS\ foLrkj ls fyf[k,A 

 

Q22  Explain the various characteristics of Angiosperms. 

 ,fUt;ksLieZ dh fofHkUu fo’ks"krkvksa dh O;k[;k djsaA 

 

Q23  What are the criterias of five kingdom classification?  

 iaptkrh; foHkktu ds ekin.Mksa dks foLrkj ls le>kb,A 

 

 

Q24  Write short note on origin of life. 

 thou ds vkjEHk ls tqM+s fofHkUu fl)kUrksa dks laf{kIr esa fyf[k,A 

 

Q25  Describe cell structure in detail. 

 dksf'kdh; lajpuk dk foLrkj ls o.kZu dhft,A 

 

Q26  Explain in brief scientific nomenclature of species with suitable examples. 

 thoksa dh oSKkfud i)fr ds ckjs esa mnkgj.k lfgr le>kb,A 

 

Q27  Explain the difference between Angiosperm and Gymnosperm. 

 ,Utks;ksLieZ ,oa ftEuksLieZ ds chp ds varj dks foLrkj ls fy[ksaA 

 

Q28  What do you mean by ‘Bubble theory’? Explain in detail? 

 *cCcy fl)kr* ls vki D;k le>rs gS\ foLrkj ls le>kb,A 

 

Q29 Enlist various organelles of plant cell and discuss their role in details. 

ikni dksf’kdk ds fofHkUu vaxksa ds uke crkrs gq, muds egÙo dks crk;saA 

 

Q30 Discuss in details classification criteria of living worlds, 

 thoksa ds oxhZdj.k ds vk/kkj ds ckjs esa fy[ksaA 

 

Q31 Differentiate between meiosis and mitotic cell division in details. 

 v)Zlw=h ,oa lelw=h dksf’kdh; foHkktu esa varj dks foLrkj ls crk;saA 

Q32 Explain in details about Poaceae family with necessary examples. 

 iks,lh ifjokj ds ckjs esa mnkgj.kksa ds lkFk lfoLrkj crk;saA 

 

Q33 Write short note on various stages in taxonomical classification. 

VsDlksuksfedy oxhZdj.k dh fofHkUu voLFkkvksa ij laf{kIr fVIi.kh dhft,A 

 

Q34 Give short note on following (any two):- 

 fdUgha nks ij laf{kIr fVIi.kh dhft;s%& 

(i) Brassicaceae (ii) Fabaceae (iii) Plant Propagation 

czslhdslh   QScslh   ikni izlkj.k 

 

Q35 Explain in detail difference between Angiosperms and Gymnosperms. 

 ,aft;ksLiZe ,oa ftEuksLiZe ds varj dks foLrkfjr djsaA 

 

Q36 Differentiate between prokaryotic and eukaryotic cells in detail. 

 izksdSfj;ksfVd rFkk ;wdSfj;ksfVd dksf’kdkvkssa ds varj dks foLrkfjr djsaA 



 

Q37 Discuss the role of animals in agriculture. 

 i'kq/ku dk df̀"k esa ;ksxnku dh foospuk dhft;sA 

 

Q38 Define morphology and discuss about morphology of flowering plants. 

lajpuk foKku dks ifjHkkf"kr djsa rFkk Qwyksa okys ikS/kksa dh lajpuk dk o.kZu djsaA 
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Q1 (a) Find the equation of circle whose Centre is (1, 2) and radius is 3 then. 

 o`Rr dk lehdj.k Kkr dhft, ftldk dsUnz (1, 2) vkSj f=T;k 3 gSA  

(b) If (1, 3) and (3, 6) are two points of diameters then find the equation of circle. 

;fn (1,3) vkSj (3, 6) O;kl ds nks fcUnq gS rks oR̀r dk lehdj.k Kkr dhft,A 

(CO1, L3) 

Q2 (a) Find the differential coefficient of the following functions:         

              (CO3, L2) 

 fuEu Qyuksa ds vodyu xq.kkad Kkr djsa%& 

(i) 𝑠𝑖𝑛 𝑥 + 𝑒2𝑥   (ii) 𝑥2 − 𝑐𝑜𝑠𝑥 

 (b) Define the Differential Coefficient.         (CO3, L2) 

    vodyu xq.kkad dks ifjHkkf"kr djsaA 

Q3 (a) Define the limit of function. Find the value of following:-               

              Qyu dh lhek dks ifjHkkf"kr djsaA fuEu dk eku Kkr djks%& 

     lim
𝑥→0

1

𝑐𝑜𝑠𝑥
  

 

 (b) Find the limit of given function:         (CO2, L2) 

   fn;s x;s Qyu dh lhek Kkr djsa%& 

(i) lim
𝑥→0

𝑠𝑖𝑛𝑥

𝑥
  (ii) lim

𝑥→1

𝑥2+𝑥+1

𝑥+1
    

(iii)  lim
𝑥→0

𝑥2−1

𝑥−1
 

Q4 Find the Determinant of given matrix:-        (CO1, L3) 

 nh xbZ vkO;wg dk lkj.khd eku Kkr djsa%& 

(i) |
3 5 4
2 7 6

12 20 16
| (ii)  |

2 5
6 3

| 

 

 

Q5 (a) Find the differential coefficient of: 

       voydu xq.kkad Kkr djsa%& 

(i) 3 sinx  (ii) 𝑥4 + 𝑥3 + 𝑥2 + 1 

 (b) Explain the differential coefficient of 𝑒−3𝑥. 

      𝑒−3𝑥 ds vodyu xq.kkad dks ifjHkkf"kr dhft,A 

(CO3, L2) 

 

 



Q6 If 𝐴 = [
2 3 −4
1 4 2

]and 𝐵 = [
7 1 3

2 −5 2
]then find the value of  

 ;fn 𝐴 = [
2 3 −4
1 4 2

]vkSj 𝐵 = [
7 1 3

2 −5 2
]rks eku Kkr dhft,%& 

(i) 2A-3B  (ii) 3A+4B (iii) 6A (iv) 8B 

     (CO1, L3) 

Q7 (a) If P (3,4) be a point then find equation of tangent of circle 

𝑥2 + 𝑦2 = 25 which passes through this point. 

 ;fn P (3,4) dksbZ fcUnq gS rks bl fcUnq ls o`Rr 𝑥2 + 𝑦2 = 25ij Li’kZ js[kk Kkr djsaA 

 (b) Define the circle and tangent of circle. 

   oR̀r rFkk Li’kZ js[kk dks ifjHkkf"kr djsaA 

(CO1, L3) 

Q8 (a) Define the function and limit of function with example. 

       Qyu vkSj lhek dks mnkgj.k ds lkFk ifjHkkf"kr dhft,A 

 (b) Find the limit of given functions:- 

      fn;s x;s Qyu dh lhek Kkr djsa%& 

 (i) lim
𝑥→0

(1 + 𝑥)
1

𝑥⁄ = 𝑒 

 (ii) lim
𝑥→1

3𝑥2−4𝑥+1

𝑥2−4𝑥+3
 

(iii) lim
𝑥→∞

𝑥2+𝑥+1

2𝑥2+𝑥+2
 

(CO1, L3) 

 

Q9  (a) Find the equation of line which passes through two points (2, 3) and (-1, -4).     

 fcUnqvksa (2, 3) rFkk (-1, -4) ls gksdj tkus okyh ljy js[kk dk lehdj.k Kkr dhft,A 

 (b) Find the point of intersection of two lines 

 3𝑥 + 4𝑦 − 7 = 0     and 6𝑥 − 5𝑦 + 12 = 0. 

 mu ljy js[kkvksa dk izfrPNsn fcUnq Kkr dhft,] ftuds lehdj.k 3𝑥 + 4𝑦 − 7 = 0  rFkk 6𝑥 −

5𝑦 + 12 = 0 gSA 

 

Q10  (a) Prove that these three lines are concurrent :- 

 fl) dhft, fd fuEufyf[kr rhuksa ljy js[kk,a ,d fcUnqxkeh gS %& 

2𝑥 + 3𝑦 = 9 

3𝑥 − 2𝑦 = 7 

4𝑥 + 5𝑦 = 17 

(b) Find length of the perpendicular from the point (4, 5) on the straight line 3𝑥 +

4𝑦 − 10 = 0. 

fcUnq (4, 5) ls ,d ljy js[kk 3𝑥 + 4𝑦 − 10 = 0 ij Mkys x;s yEc dh yEckbZ Kkr dhft,A 

 



Q11  (a) For the circle 2𝑥2 + 2𝑦2 − 6𝑥 + 7𝑦 + 2 = 0 , find the co-ordinate of centre and 

radius.  

 ml o`Ùk ds dsUnz ds funsZ’kkad rFkk f=T;k Kkr dhft, ftldk lehdj.k 2𝑥2 + 2𝑦2 − 6𝑥 + 7𝑦 +

2 = 0 gSA 

 (b)Find the equation of circle whose co-ordinate of centre is (-5, -6) and radius is 7.  

 ml o`Ùk dk lehdj.k Kkr dhft, ftldk dsUnz (-5, -6) rFkk f=T;k 7 gSA 

 

Q12    Differentiate the following function by first principle:   

 fuEu Qyu dk vodyu izFke fl)kar ls Kkr dhft, %& 

(i) 𝑓(𝑥) = 𝑥𝑛
  

(ii) 𝑓(𝑥) = sin 𝑥 

 

Q13  (a) Differentiate the following :-   

 fuEu dk vodyu dhft, %& 

 𝑓(𝑥) = 𝑒𝑥 + 7𝑥2 + 2 sin 𝑥  

 (b) Integrate the following function with respect to 𝑥 ∶   

 𝑥 ds lkis{k lekdyu dhft, %& 

 𝑓(𝑥) = 𝑥4 − 3 cos 𝑥 + 4𝑒𝑥 + 3 

Q14  Find the value :-  

 eku Kkr dhft, %& 

(i) ∫
𝑑𝑥

1−sin 𝑥
 

 (ii) ∫
𝑑𝑥

𝑠𝑖𝑛2𝑥 𝑐𝑜𝑠2𝑥
 

       

Q15  (i) Find the value of following determinant :-  

 fuEu lkj.khd dk eku Kkr dhft, %& 

|
13 16 19
14 17 20
15 18 21

| 

 (ii) Find the value of following determinant :-  

 fuEu lkj.khd dk eku Kkr dhft, %& 

 

|
48  3   6
88  5 11
72  6   9

| 

 



Q16  (i)  Prove that :-   

 fl) dhft, fd % 

 |

𝑥 𝑦 𝑧

𝑥2 𝑦2 𝑧2

𝑦𝑧 𝑧𝑥 𝑥𝑦
| = (𝑥 − 𝑦)(𝑦 − 𝑧)(𝑧 − 𝑥)(𝑦𝑧 + 𝑧𝑥 + 𝑥𝑦) 

 

 (ii)  Prove that :-   

 fl) dhft, fd % 

 |

𝑥 𝑦 𝑧
−𝑥 𝑦 𝑧
−𝑥 −𝑦 𝑧

| = 4𝑥𝑦𝑧 

 

Q17  (i) If 𝐴 = |
2 3 −4
1 4 2

|  and 𝐵 = |
7 1 3
2 −5 2

| then find the value of 2A-3B. 

 ;fn 𝐴 = |
2 3 −4
1 4 2

|  rFkk 𝐵 = |
7 1 3
2 −5 2

| rks 2A-3B dk eku Kkr dhft,A  

 (ii) If 𝐴 = |
2 −1 4
3 2 7

|  and 𝐵 = |
7 5 3
2 4 1

| then find the value of A-B. 

 ;fn 𝐴 = |
2 −1 4
3 2 7

|  rFkk 𝐵 = |
7 5 3
2 4 1

| rks A-B dk eku Kkr dhft,A  

 

Q18  If 𝐴 = [
1 2 3
3 −2 1
4 2 1

] then show that 𝐴3 − 23𝐴 − 40𝐼 = 0. 

 ;fn 𝐴 = [
1 2 3
3 −2 1
4 2 1

] gS rks n’kkZb;s fd 𝐴3 − 23𝐴 − 40𝐼 = 0 

 

Q.19  (a) Find the equation of circle whose coordinates of centre is               

              (-5, -6) and radius is 7. 

    ml o`Ùk dk lehdj.k Kkr dhft, ftldk dsUnz (-5, -6) rFkk f=T;k 7 gSA 

 (b) Find the distance between the points (2, 3) and (5, 6). 

     fcUnqvksa (2, 3) rFkk (5, 6) ds chp nwjh Kkr dhft,A 

 

Q20  Find the value of: 

 fuEu dk eku Kkr dhft, % 

 (i) lim
𝑥→∞

𝑥2+3𝑥+4

3𝑥2+5𝑥+7
 

          (ii)    lim
𝑥→0

𝑥2−5𝑥+6

𝑥2−8𝑥+15
 

 

Q21  Differentiate the following with respect to 𝑥: 

 𝑥 ds lkis{k fuEu dk vodyu Kkr dhft, %& 



 (i) 𝑓(𝑥) =  𝑒𝑥 + 7𝑥2 + 2𝑠𝑖𝑛𝑥 

 (ii) 𝑓(𝑥) =  𝑥2𝑠𝑖𝑛𝑥 

 

Q22  Find AB and BA if: 

 AB rFkk BA Kkr dhft, ;fn 

 𝐴 = [
3 2
5 3

]  𝑎𝑛𝑑 𝐵 = [
8 4
2 1

] 

 

Q23  Prove that: 

 fl) dhft, fd% 

 |
𝑥 𝑥2 𝑥3

𝑦 𝑦2 𝑦3

𝑧 𝑧2 𝑧3

| = 𝑥𝑦𝑧(𝑥 − 𝑦)(𝑦 − 𝑧)(𝑧 − 𝑥) 

 

Q24  (a) Find the area of triangle, the co-ordinate of whose vertices are (1, 3), (2, 4) and (5, 

6). 

  ml f=Hkqt dk {ks=Qy Kkr dhft, ftlds funsZ’kkad (1, 3), (2, 4) rFkk      (5, 6) gSA  

 (b) Find length of the perpendicular from the point (4, 5) on the straight line 3𝑥 +

4𝑦 − 10 = 0. 

 fcUnq (4, 5) ls ,d ljy js[kk 3𝑥 + 4𝑦 − 10 = 0 ij Mkys x;s yEc dh yEckbZ Kkr dhft,A 

 

Q25  Integrate the following with respect to x  : 

 𝑥 ds lkis{k fuEu dk lekdyu Kkr dhft, %& 

 (i) 𝑓(𝑥) = 𝑥4 − 3 cos 𝑥 + 5𝑒𝑥 + 3 

         (ii)    𝑓(𝑥) = sec 𝑥 tan 𝑥 + 𝑒𝑥 

 

Q26  Find the maximum and minimum value of following: 

 fuEu dk mPpre vkSj U;wure eku Kkr dhft,%& 

 𝑓(𝑥) = 2𝑥3 − 15𝑥2 + 36𝑥 + 10 

 

Q27  Find the value of following: 

 fuEu dk eku Kkr dhft,% 

 (i) ∫ 𝑥3𝑑𝑥
3

2
 

         (ii)    ∫ sin 3𝑥 𝑑𝑥
𝜋

6
0

 

 

Q28  Find the inverse of a matrix 𝐴 = [
10 15 12
6 5 −4
8 10 7

] 



 vkO;wg 𝐴 = [
10 15 12
6 5 −4
8 10 7

] dk izfrykse Kkr dhft,A 

 

Q29 (a) Find the equation of line which passes through point (1, 2) and not is parallel to 

the line joining points (4, -3) and (2, 5). 

ml js[kk dk lehdj.k Kkr djks tks fcUnq (1, 2) ls xqtjrh gS rFkk fcUnq (4, -3) o (2, 5) dks feykus 

okyh js[kk ds lekUrj gSA 

 (b) Find area of the triangle, the co-ordinates of whose vertices are (4, 4), (3, -2) and 

(-3, 16). 

ml f=Hkqt dk {ks=Qy Kkr djks] ftlds funsZ’kkad (4, 4), (3, -2) vkSj  (-3, 16) gSA 

 

Q30 (a) Find the equation of circle whose co-ordinate of centre is (-3, 7) and radius is 4. 

ml o`Ùk dk lehdj.k Kkr djks ftldk dsUnz (-3, 7) rFkk f=T;k 4 gSA 

(b) Find the distance between the points (-7, -1) and (4, -2). 

fcUnqvksa (-7, -1) rFkk (4, -2) ds chp dh nwjh Kkr djksA 

 

Q31 Find the value of : 

fuEu dk eku Kkr dhft;s%& 

(i) lim
𝑥→2

𝑥2−5𝑥+6

𝑥2−4
 

(ii) lim
𝑥→𝑎

(𝑥+2)
3
2−(𝑎+2)

3
2

(𝑥−𝑎)
 

 

Q32 Differentiate the following with respect to 𝑥:- 

𝑥 ds lkis{k fuEu dk vodyu dhft;s%& 

(i) 𝑓(𝑥) =
𝑥𝜂−𝑎𝜂

𝑥−𝑎
            and    (ii)  𝑓(𝑥) = 𝑥10𝑡𝑎𝑛 𝑥 

 

Q33 Prove that : 

fl) dhft;s fd% 

|
𝑎 𝑎 + 𝑏 𝑎 + 2𝑏

𝑎 + 2𝑏 𝑎 𝑎 + 𝑏
𝑎 + 𝑏 𝑎 + 2𝑏 𝑎

| = 9(𝑎 + 𝑏)𝑏2 

 

Q34 Find AB and BA if, 

AB rFkk BA Kkr dhft;s ;fn] 

𝐴 = [
3 4 5
6 1 0

]  and 𝐵 = [
1 4
0 3
1 5

] 

 



Q35 Find the inverse of a matrix A: 

vkO;wg A dk izfrykse Kkr dhft;s%& 

𝐴 = [
−4 4 4
−7 1 3
5 −3 −1

] 

 

Q36 Find the maximum and minimum value of the following:- 

fuEu dk mPpre vkSj U;wure eku Kkr dhft;s%& 

𝑓(𝑥) = 𝑥 +
1

𝑥
 

 

Q37 Integrate the following with respect to 𝑥:- 

𝑥 ds lkis{k fuEu dk lekdyu Kkr dhft;s%& 

(i) 𝑓(𝑥) = 5𝑐𝑜𝑠𝑥 − 3𝑠𝑖𝑛𝑥 +
2

𝐶𝑜𝑠2𝑥
 

(ii) 𝑓(𝑥) =
𝑆𝑖𝑛𝑥

1+𝑆𝑖𝑛𝑥
 

Q38 Find the value of following: 

fuEu dk eku Kkr dhft;s%& 

(i) ∫ (2𝑠𝑒𝑐2𝑥 + 𝑥3 + 1)𝑑𝑥
𝜋

4
0

 

(ii) ∫ (𝐶𝑜𝑠 2𝑥 + 𝑥)𝑑𝑥
𝜋

2
0

 

 

 


